AN AEE KRKBRENE/RE—ER

(1) = M {b B 38 (B4 : ppm)
R AR 6H22H| 6H23H| 6H24H| 6H25H| 6H26H| 6H27TH| 6H28H| 12H7H| 12H8H| 12H9H|12H10H|12H11H|12H12H|12H13H OB O %
PR TSNS = TR J i 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.002 0.002 0.001 0.001 0.001 0.001
(B 1) (Bt dim) [ P 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.001 0.001 0.001 0.000 0.000 0.000
RT T SRR AR /D OF B Jn i 0.001 0.001 0.002 0.001 0.001 0.003 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 N
B 1) CR R 09 [P 0.000]0.000[0.000[0.000[0.001 0.001 0.001 0.000]0.001 0.001 0.000]0.000]0.000]0.000] IFFHIEOL A P
PH T o & O A B[ dwemli 0.001 0.001 0.001 0.001 0.001 0.002 0.003 0.001 0.001 0.001 0.001 0.001 0.001 0.001]0.04ppmEL FTHY, 7>
(Hy =) CRA )| TR 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.000 0.000 0.001 0.000 0.000 0.000 0.000| 1 FFFAMEZY 0.1ppmPA T
T P 7 R 20 DU/ N e | 0.001 0.001 0.002 0.001 0.001 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001] B b,
(B 1) (Ghen )| PfE 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.000 0.001 0.001 0.001 0.000 0.001 0.000
WO @ LR A e 0.001 0.001 0.002 0.001 0.001 0.002 0.003 0.001 0.001 0.001 0.001 0.001 0.001 0.001
(Ho 1) (G glmy ) [ PafE 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.000 0.001 0.001 0.001 0.000 0.000 0.000

(2 = %k = # (HA7 : ppm)
TR AH 6H22H| 6H23H| 6H24H| 6H25H| 6H26H| 6H27TH| 6H28H| 12A7H| 12HA8H| 12H9H|12H10H|12H11H|12H12H|12H13H R OB O M (H
PR T SPRTE ek
[ A I 0.008 0.007 0.005 0.004 0.004 0.006 0.008 0.013 0.016 0.018 0.011 0.006 0.016 0.016
EE S FIVA T N ] I .
CB b (o bl | P 0.009 0.009 0.004 0.003 0.004 0.007 0.009 0.012 0.013 0.016 0.009 0.005 0.012 0.013 wﬁdﬁh”%@é A I,Zig{@x
PMNTLHSONE] 0.04ppm7)>50.06ppmET
Chi b (bl pe| P 0.009 0.009 0.004 0.003 0.003 0.005 0.008 0.012 0.015 0.017 0.011 0.006 0.015 001 |5 S . Z AL
B R T SRR A PN ThHIL,
(B ) (s | PO 0.009 0.009 0.005 0.005 0.005 0.008 0.010 0.013 0.014 0.016 0.010 0.006 0.013 0.013
E e SN/ | I
Chi 1) (meppur | P 0.013 0.014 0.006 0.005 0.005 0.007 0.011 0.012 0.013 0.015 0.010 0.006 0.015 0.012

3) &% i ki + R & (B . mg/m")
R AR 6H22H| 6H23H| 6H24H| 6H25H| 6H26H| 6H27TH| 6H28H| 12H7H| 12H8H| 12H9H|12H10H|12H11H|12H12H|12H13H OB O %
PRSP RS = TR i 0.055 0.045 0.037 0.049 0.036 0.041 0.049 0.024 0.036 0.023 0.018 0.031 0.017 0.021
(B 1) (Bt dim)[ P 0.032 0.027 0.024 0.028 0.020 0.022 0.035 0.008 0.009 0.011 0.007 0.010 0.006 0.010
RT T L B AR /D OF B Jn i 0.048 0.036 0.032 0.037 0.031 0.032 0.042 0.015 0.022 0.021 0.016 0.019 0.012 0.017 N
(B 1) (Bt dim)[ P 0.028 0.023 0.021 0.023 0.019 0.019 0.030 0.009 0.010 0.013 0.011 0.011 0.008 0.011 15#%”@031 A FEfiE7
PR b & O 2 B s 0.042 0.029 0.019 0.027 0.019 0.025 0.034 0.021 0.019 0.030 0.016 0.023 0.015 0.022 [0.10mg/m’ LA FTHY, 7>
(Ho 1) (B AEdi ) [ PfE 0.025 0.019 0.014 0.018 0.013 0.016 0.025 0.010 0.011 0.013 0.011 0.011 0.008 0.012 |~ 1 F1{47%0.20mg/m®
T P 7 R 20 DU/ N e | 0.062 0.037 0.037 0.043 0.036 0.040 0.046 0.016 0.019 0.020 0.015 0.018 0.012 0.020 | 1y [ty 1
(B 1) (G en )| P 0.021 0.019 0.020 0.017 0.016 0.019 0.023 0.007 0.009 0.012 0.010 0.010 0.008 0.010 =<
WO B LR 2 B il 0.045 0.034 0.023 0.031 0.039 0.027 0.038 0.014 0.020 0.021 0.015 0.020 0.016 0.017
(Ho 1) (G glmy o) [ PafE 0.027 0.022 0.015 0.020 0.016 0.018 0.028 0.008 0.010 0.013 0.011 0.012 0.009 0.012

4) | & Kk FE (HA7 : ppm)
TR AH 6H22H| 6H23H| 6H24H| 6H25H| 6H26H| 6H27TH| 6H28H| 12A7H| 12HA8H| 12H9H|12H10H|12H11H|12H12H|12H13H HAZER BRI
SPURF T S OPIA 25 = v 5 .
CR L) (b | PVERE 0.001 <0.001 <0.001 <€0.001 <€0.001 <€0.001 <€0.001 <€0.001 <€0.001 0.001 <€0.001 0.001 <€0.001 <€0.001
SPLAY ST AR AR R e
CR b (o bl | PVERE <0.001 <0.001 <0.001 0.001 <€0.001 <€0.001 0.001 <€0.001 <€0.001 <€0.001 <€0.001 <€0.001 0.001 <€0.001
P L b = O 4 A .
Chi b (Bl | PVERE <0.001 0.001 <€0.001 <€0.001 <€0.001 <€0.001 <€0.001 <€0.001 <€0.001 0.001 <€0.001 0.002 0.001 0.001 0.02
BRI S Bf R 27 VO /N e .
CR ) (s | VER <0.001 0.001 <0.001 <€0.001 <€0.001 <€0.001 <€0.001 <€0.001 0.001 0.001 <€0.001 0.001 <€0.001 <€0.001
1L = N
i RE BT R LS B e <0.001 <0.001 <€0.001 <€0.001 0.001 <€0.001 0.001 <€0.001 0.001 <€0.001 <€0.001 0.001 <€0.001 <€0.001

(i 1) (i B BT PN )




O KRERBEFORUEERIZONT(HE)
B XA O RER

BT : pg-TEQ/m”

0.6
O IR T SR = ek KA BREEELAEN:0.6pg-TEQ/m3LL T
0.5
B PRI STV N I VINE 59
0.4
== PRt LH IO 0.3
~O- SR LRI AR
=i AT &t R 0.1
0.0 #’<3=—4* —— ————— >—e —¢ |
r TR | BpFEIE TH%
H 58 P24 | PERRTA SRR3R AR S 24F S 34 SR 44
Z 1~ 1~
~ 264 [~ 29 64 121 71 121 61 121 61 121 61 121
SR E IR = k| R G HEfE 0.051 0.032 0.011 0.019 0.013 0.011 0.014 0.016 0.013 0.017 0.014 0.013
I AF ST RS AR R R RS HEfE 0.045 0.027 0.031 0.013 0.013 0.0092 0.012 0.016 0.013 0.018 0.014 0.013
PR A SO AR e HEfE 0.029 0.031 0.011 0.013 0.012 0.0095 0.012 0.016 0.013 0.019 0.014 0.015
BT SRR DU N R KT HEfE 0.067 0.026 0.012 0.013 0.015 0.012 0.011 0.014 0.013 0.016 0.012 0.012
T BT B £ RN | ke HEfE 0.053 0.045 0.011 0.019 0.014 0.0084 0.011 0.015 0.011 0.017 0.012 0.014

X REMRRIERE RIS OV TR, T A BRER R 2 TR <ZS 0,

W RAERR SO E RS R (1R 0O e i i)

== PIRF ISP 5 = rhpfl

& 1RO B i

REAER B YE(E : 1BFREE 2, 0. 1ppmPL T

H{7: ppm

0.080
B PRI STV N VINE 59
L 0.060
== PN HEHSOAR
i e enp 0,040
O i FEMT ST ERFEES U /N
= S FENT Bk R 0.020
0.000 E***#‘L—#ﬁs_
e TRl | BFEIET T %
H 58 R4 PR T SEER304FE AR SR 24F S 34 SR 44
~RR264F [~ FRR294E| 6 H 121 71 121 61 121 61 121 61 121
PR TSR S| RS | Bk 0.008 0.004 0.001 0.001 0.001 0.002 0.001 0.003 0.002 0.001 0.002 0.002
PR ST RS AR R RS e 0.009 0.005 0.002 0.002 0.001 0.002 0.001 0.004 0.001 0.002 0.003 0.001
PR A SO AR X e 0.003 0.004 0.002 0.001 0.001 0.002 0.002 0.002 0.001 0.001 0.003 0.001
FEEIT SRR DU R R KT e 0.011 0.005 0.002 0.001 0.001 0.002 0.002 0.003 0.001 0.001 0.002 0.001
IR RS e 0.005 0.002 0.002 0.001 0.002 0.003 0.002 0.003 0.001 0.002 0.003 0.001




B AR ORERE R (1 H OF-H5fE)

<& THOFHE

HA7: ppm

0.100
=PI HISTPIAT B = A
0.080
O PR SRR N
I 0.060
== PR HINEHE O
—o— BT SRR I gy 0010 T ; ) .
e e KEEBRBEFLUEE : 1 B EEA3, 0.04ppm L
= i FHMT & s B [ 0.020
0.000 L m—,—— O—¢ o——0 o ¢ ¢ * +
i THNT | BFEIEE T4
H BT R4 PR T SRR 304 AR AR 24 A 34 S AE
~RR264F [~ FRR294E| 6 H 121 71 121 61 121 61 121 61 121
PR TSI IR A ke R s | Pigs 0.002 0.002 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.000 0.001 0.001
BIAF ST R AR N R R RS THIfE 0.002 0.002 0.001 0.001 0.000 0.000 0.000 0.001 0.001 0.000 0.001 0.001
WAL bSO E|] HEkxe THE 0.001 0.002 0.001 0.000 0.000 0.000 0.001 0.001 0.000 0.000 0.001 0.001
FERET SRR DN RS R T THE 0.003 0.002 0.001 0.000 0.000 0.001 0.000 0.001 0.001 0.000 0.001 0.001
T BB B b R | e THE 0.002 0.001 0.001 0.000 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.001
B i bEROBIER S (1 H OFEIE)
O LAOTHE HL: ppm
0.060 ‘
S AT N B A = th sk y .
o : 0.04~0.06ppmETDY —> N XiZ, ZHEAF
0= PR SR bR
0.040
== PR L HI O
PR Sz e 0.030 é
-SRI SERRHI N oo ,/’\‘
O BT 55 - S AT 0.010 //.V *Q?"
0.000
i THNT | BFEIEE TH%
H BT R4 PR T SRR 304FE AR S 24 A 34 S AE
~RR264F [~ FRR294E| 6 H 121 71 121 61 121 61 121 61 121
PR TSI RS ke R s | Pigs 0.033 0.027 0.012 0.017 0.012 0.012 0.008 0.018 0.011 0.017 0.008 0.018
BIAF ST R AR N RS R RS THIfE 0.031 0.029 0.012 0.021 0.012 0.012 0.008 0.017 0.011 0.018 0.009 0.016
WAL bSO s E|] HEkxe THE 0.028 0.029 0.011 0.020 0.011 0.012 0.008 0.017 0.010 0.018 0.009 0.017
FR BT SRR DR R T THE 0.029 0.028 0.012 0.020 0.010 0.012 0.009 0.018 0.011 0.018 0.010 0.016
Hif BB B b R | e TR 0.035 0.027 0.011 0.021 0.013 0.014 0.009 0.018 0.013 0.024 0.014 0.015




W PR OB TE R R (THF R O fe i )

. O RO B H i

AT : mg/m®

=R SR = e KA BEEE FL VN 1R RIE2Y, 0.20mg/m3LL T
== SR NEAS MR 0.150
R IR RGN &
0.100 0\ /\
T SRR I PR A
) 0.050 S— > <
O SR 5 - LA —
0.000
5 THR | &Pk T 4%
H 58 R4 PR T SEER304FE AR S 24 S 34 S AE
~RR264F [~ FRR294E| 6 H 121 71 121 61 121 61 121 61 121
PR IR ke B Exs | s 0.117 0.064 0.038 0.035 0.061 0.044 0.052 0.047 0.031 0.040 0.055 0.036
RS bR B R %S Rl 0.077 0.065 0.032 0.042 0.058 0.044 0.041 0.038 0.040 0.101 0.048 0.022
W bSO AR HE%6 R 0.090 0.057 0.039 0.033 0.093 0.039 0.034 0.034 0.055 0.029 0.042 0.030
FREET SRR I/ ke R ok R 0.104 0.064 0.032 0.045 0.079 0.055 0.035 0.036 0.043 0.031 0.062 0.020
HOREET @t R E| M Exe R 0.101 0.060 0.055 0.054 0.079 0.039 0.035 0.046 0.038 0.037 0.045 0.021
B kIR E ORERS S (1 H OSFEEE)
p {7 :mg/m’
O 1HOYEHfE :
0.200
=PI I STPIAT B = A
== SR NEAS M AR 0.150
== PN HIEHSOAR 0.100
ISR RABREHEN: 1 IS, 0.10mg/m* LA F
=i MY N ERE S U/ NP As
0.050
BRI - R ‘\\_E R %:g— _‘_# é
0.000
5 THq | &Pk T 4%
H 58 R4 PR T SRR 304 AT S 24 S 34 S AE
~RR264F [~ FRR294E| 6 H 121 71 121 61 121 61 121 61 121
PR IR S Sk B Exs | Eings 0.046 0.033 0.023 0.020 0.035 0.028 0.026 0.022 0.021 0.020 0.035 0.011
RS bR B R %S S 0.045 0.029 0.020 0.020 0.036 0.027 0.020 0.021 0.017 0.020 0.030 0.013
W bSO AR HE%e Ty 0.045 0.031 0.020 0.016 0.034 0.025 0.021 0.021 0.027 0.018 0.025 0.013
FREET SRR I/ ke R ok Ty 0.048 0.034 0.019 0.022 0.045 0.031 0.025 0.023 0.024 0.017 0.023 0.012
HiOREET m ot R E| M Exe Ty 0.046 0.032 0.020 0.023 0.039 0.022 0.021 0.026 0.023 0.019 0.028 0.013




W ALK SR OB RS A GHITE ] O fe A i)

O RO R

HA{7: ppm

0.020
—O— YR TS 5 = A BRSREEIRIEAE :0.02ppm L T
—O— RS STANMR kR 0-015
—O0— BT LI S OVALE
PR ZNFs| 0.010
—Q— 5 T LR BE S DU/ VA
0.005 -
—— Fi ST & - LA [
. e, 3
0.000 < < < ¢
5 TFpi | SfFELR T 4%
H 58 R4 PR T SEER304FE AT AR 24 S 34 S AE
~RR264F [~ FRR294E| 6 H 121 71 121 61 121 61 121 61 121
PR IR ke B s | ek 0.008 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.001
RS bR B R %S B 0.006 0.003 0.001 0.001 <€0.001 0.001 <€0.001 0.001 0.001 0.001 0.001 0.001
W bSO AR HE%e e 0.008 0.001 0.001 <0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002
FREET SRR ke R ok e 0.004 0.001 0.001 <0.001 <€0.001 <0.001 <€0.001 0.001 0.001 0.001 0.001 0.001
HOROET @ b R E| M Exe e 0.008 0.001 0.001 0.001 0.001 0.002 <0.001 0.001 0.002 0.002 0.001 0.001

~N O U s W N

T R OO T SRR 23R D S REIT Te S L O R AE A B BENT & b AR ICA L THIEL TWET,
FeEfELE, IS BT DR ROMETY, 7285, RS TODEMEIE, HIESIM FIZBT D IREREO R RO EEZ AL TOET,
EEELIE, 1 RICBIT D EHOM T, 72k, FlSh T8I, RIEHR T 21 H EAEO HEROEERAL ThET,
WEBIR FIZ BT DR ROEER AL TOET,
1 EAHRI15.0mE2R>TOET,
1 E2sB891.5mérr > TVET,

1 EAHRITL.AmEZR>TOE T,
8 [&JFfsik b1k, JEd
9 [THEai) &l Swpn

AR TR IEL CODS IR CF, F7o, SRS TODEUE I, 24F i (IR oo 53 4E R D e KA B L TS,
ok B T4 (P AR NN DA IE) 3 FERESALDRTO MR T, Fio, FefliS TODEUE L, THEMHE AT E3FEM O R EEBR AL TOET,
10 [Tk Lid, FEepfORfif e B T3 (B AP IR O 1) WERS - O T,



O REBEEFOUERR, HFLAFOLEIZONT(ZE)

W LR OBIER R ()

== PIRF T PR = o
+%Hﬁﬁ$ﬁi%d\$&

_<> 1B O f i i
REEBRBEFLAERS : IRFE {23, 0. 1ppmLL T

HAf7 : ppm

B R OBER R (XF)

A7 : ppm

O OB i

== P i LB SO
= S R N7 Bl 25 U /N
m
R PPN 0.00 ——4 ¢ —s v
O 1HDOFEHfE
0.100
0.000 ——4@ ‘ - ‘ 4 ‘ — ‘ g
i X =
)4 B B i SEERSOAE | RN e E| RN Q4R FE| A SAESE| S AR
o N L | R 0.001 0.001 0.001 0.002 0.002
SRR = heeke| R R
HRTIRERR = IS 0.000 0.000 0.000 0.001 0.001
N . . i 0.002 0.001 0.001 0.001 0.003
S IN N J& [3%5
R LR B A TN 0.001 0.000 0.000 0.001 0.001
- ] i 0.002 0.001 0.002 0.001 0.003
WAL s OA | Hbxe et
AL D S0 4 TN 0.001 0.000 0.001 0.000 0.001
N . i 0.002 0.001 0.002 0.001 0.002
BRRENTSEERRE S U IR R BT
ISR R ) TN 0.001 0.000 0.000 0.001 0.001
. s 0.002 0.002 0.002 0.001 0.003
BB E b R oA E| Mk
i B e TN 0.001 0.001 0.000 0.001 0.001

e 0,100
"'fé“mﬁﬂﬁ%*** KRBRSEIEAEAE : RIS, 0. LppmEd T
RS s o
o= RS O
o BT R R I
R SN 0.00 —4 ° - '

o100 O LHO T
0.000 —@ ‘ —& ‘ < ‘ & ‘ .
i % =
Jig 5% I 55 BT R0 ] A R 2| A SEEE| Rl AT
- U . F i E %2 0.001 0.002 0.003 0.001 0.002
PR SERAE =g J= %5
FRAIHRR = SEEIE 3 0.000 0.000 0.001 0.000 0.001
o . . o iE 0.002 0.002 0.004 0.002 0.001
£ NN %5
AR E LA 2H BEX RS 0.001 0.000 0.001 0.000 0.001
. . SR 0.001 0.002 0.002 0.001 0.001
A A& O A | kK
RHMLHE0A bk RS 0.000 0.000 0.001 0.000 0.001
N . o iE 0.001 0.002 0.003 0.001 0.001
Fi REBT ST Bl 5 DU /N2 J= F%T
WAENT LR /P RS 0.000 0.001 0.001 0.000 0.001
. e E 0.001 0.003 0.003 0.002 0.001
iy Bl = - /N I )
i Ra RS 0.000 0.001 0.001 0.001 0.001

B Bt EFROWERHR(EF)

HA{7 : ppm

B CREEROWERR (LF)

A7 : ppm

0.060 = 2]
S A H N D —hes . 7
DRkl B KT | B T,
+%$~j‘ﬁﬁjm%/b$g§ : / 0.04~0.06ppmE TN — N X, ZHLLTF
B 0.040 =+
i RV P RVA YN ON/ATF |
0.030
—O— Fin R T 37 B RS A DU/
i 0.020
=4 N
— AT L AAE 0.010 —.!*h%i
0.000
i 2 F
£ B WY i SERRSOAESE| A AT | 24| R SAEJE| S A4ERE
SISO = k] R Es | RS 0.012 0.012 0.008 0.011 0.008
FA S AR R | TR 0.012 0.012 0.008 0.011 0.009
P W VbS04 R HEXe | TR 0.011 0.011 0.008 0.010 0.009
T SRR VR R R | T 0.012 0.010 0.009 0.011 0.010
B B AT W LR | M6 | T 0.011 0.013 0.009 0.013 0.014

0.060 = 2]
SN F T N7 B A = s .
DRkl I KABRBEIAE 1 A TS,
+%$~j‘ﬁ?jm$ﬁ/b$g‘5 ’ J 0.04~0.06ppmETHY — N X, FHLLF
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=PI iSO
0.030
=~ 5 BT N7 B 5 DY /)N 0,020 -
D SN o010 N" ; —~$
0.000
s £ F
JE B Y i SRRSO | RN TTAR | 2R SRS R AR
PR ST B s | PR 0.017 0.012 0.018 0.017 0.018
R N R B | P 0.021 0.012 0.017 0.018 0.016
FA N b S 0 AR WExe | FHE 0.020 0.012 0.017 0.018 0.017
SRR SRR U R R T | A 0.020 0.012 0.018 0.018 0.016
i BET @ £ R o | Wbxe | FHE 0.021 0.014 0.018 0.024 0.015




B R R E ORERE R (EFF)

== DI TN PIRTHS = s

O IR
KREER I FLENE - 1BFREE 2, 0.20mg/m3LL

B :mg/m’
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